FTHAFETRRRES:L

PHAFETEXREIH(2AS)

XA X5 XHERRE =8 (M)
2A108 =8 ([FEEEREEIMEOBHRE & 5,000
2A16H g |BREREGHE UiE 5,000
2A20H RE |BEEMEAISTESRBRR-BHE = 5,000
2R 22H 2E |EMFENEAROBEEREXIMENDERR RS =& 12,000
28 24H 2E |BEEMBAESHEIRBLOBNE = 10,000
2A27H i [EEMRXELIHEAKREDRESHR -BHE HiE 5,000
XA 42,000
SHAEETRIEREXH (REH)
EH i £#E(A) | REt(A) | REFUH
e 2 10,000 37,711 8
28 4 32,000 161,000 19
B 47,500 2
=yl
E e
B 253,680 2
ZDfth
&5t 499,891 31
PAEETRIXBEIHGAS)
XHH X5 THERR =8 (A)
3A16H HE |ERSAAVRISTRERE HE 5,000
3A18H g€ |=EEMEBEOBE ik 5,000
XHaE 10,000
FHAEETRIEFEH (R
I5H H XEA) | ZE () | B2EHUH)
e 2 10,000 47,711 10
=2& 161,000 17
b4l 47,500 2
2E
e
BE 253,680 2
Z 01
a5t 509,891 31




